- .
- -
- -
. - W%ﬁf

NN

. o V - - _ -
W : . . ... __ @ @ @ @ @ @
- . — - ' .. @ . -
- » ) ~ - -
. ' . - -
/WW \

. - - . X _ -
- e . - . /%: - - ,/W -
- - ‘ ; - .- -
- 5 - - . = -
- @ @ -

- v - - - -
- N . - - - - . - . o
- . - - - @ @ @ @
- - - - - - - .
- - - - - - - -
- - . -
- = . @ o

- -~ WMM

- ‘ . -~

-
-

_
-
.

.

.-
-

/%’ & .‘ i o . &
: - . e o - -
- ' - @ o=
. - . - - . - - - - . - - -
- ' - -
- Nﬂ?@/ -
S 7 e
- %M% -
- - . -
| ff%%wﬁfé@}m - _ - -
- .- . _ _ -
- . - . - . - - . -
- __ ___ _ _  _ @ @@ @ @ @ @ @ - - @ ' - -
. - - - - -
/ - . - - - @
- - ;;w%éﬁ’ - -
- -
- . - -~
- . __ = @ @@ @ @ -
- . - - -
- . @ @ @ . @@ @@
- V . .- - _ _ __
.- @ @ Wwwﬁ&%w% -
%W .
- -
.
, -~
- . -
. -
.

- ”ﬂmw
- - =

- =
o SN

oo
-

. . -
. - » .
. WM%WW = = 2 » fﬁ/xx@g%%ﬁm

. .

.
.

m{*@# i
ig,.} }

e

- -




o
D

. o
. .
- -

o
s
%&«g, e o
o .
-

.

.

- e
e -

- -
... . .

- - .
- - -
- .
.
-~
. el

.

-
. o - .

- - .= -

. . - -

. .
. -
- .

o
.

. - -
= - -

.

"
|
.

.

“é‘:”mm ...
e .
...

o
b\kgg‘%\?\:%%&%‘ X%

f;

&‘\
.

. -

.
-

.
.

o

.

.
-

.

'\\"(‘4‘: o
.
.
-

.
.
.
-

.
.
-

.

.
o
.

.

.
.

.

.,
.

-
e - s S o - o
- = - ... -
... . ...

. - - - -
. .
6...... - - ,

.

o

.

.
e

= o L
Lo 7 i
- .
¢ W@MM@’W -
... @
- -
.. _ . .
- - . - . _ .
... ... . - . - -
- .
... . ’

-
- :
-
Xheits o - 1 ~" e
- . S - - ;z“g;«éw«
- . .

- - -
. o . .
- - . - - -
- - i o
-
.
- . - -
. .
.. @ @ .
- = ...
- - - o
. - .- .
- .. = ... - .
- . o o
. . . o = L
- .- . . - -
o - - - -

L
.

.

.
‘
.

o
.

o

.

.

- - . . . -
. . o - . -
.

.

’
%

-

.

o

. _ . , . .
. - ... _ . o T

e s i
.- - = .
. ~ -

o

L

-
-

.

.

.
.

.

-

... __ . _ . .

. z%%jﬁyﬂ%}%%m@%%ffmﬁ;&gpw _ .
... - - . . . - .
- QWV%%WM%%M% . ..
. - .

- %&« - -
.. =

. Z -

. .
... __ _

.

\
o
e
.
.
.
o

&

.

i
.

.

o .
e s
- s
. @ O

. o

.
2

-

.
-

&
.
.
-
‘

o

- -
- .

7”’»’% o
- . = - / -
- - -

- @ - - . -
... . @ . - ... .
- ' . ’6/
-

n e il e T S

.- ..
o - .
-

o
- -
. - P . =

- - =

2
.
.
}%
e

. . ~/

!

-

o

-

.

.
%%\
.
‘\,\

o
.
.

...
.. -
- .

-

o
e

~ -
- .

o
%

. .
. . e -
- - -
L ge o
.- -

o

‘,

o

.
o e
-
.

x
.

.

- .

.

o
-
.
o

b\Q

-

-
- -
- .

.
.

‘%ik o
o

.

.

o

o

-
-

-
ng
.

o
-
-

-
.

S
.
<

-
.

.
-
.
0
-

-
o

o

.
o
L

-

.

. &

tj)‘(‘
h

,

-
e

-

.

-

L

e e
- - . . - .

- %ﬁﬁ,@%ﬂw L o - . ?}’4‘7 .
. : - - - .
- . & -~ -

.

.
-

. ... . .
...  __  _ @ O O @ O O
.. ... - .. . - . ... ...

- . . -
.- . . . c

- . . .
- .
. - o -
- -

-

-

- . _ .
... . : -
.. .

e i
-

- . . .

o W"‘" - - U i
- - . _ . .
- - -

... -
. ,¢N§7‘ﬁ6hf'¢%ﬁﬂfﬁ‘ -
-

- -
- -
. -

.- -
: e e .
- @ ..

= -~ i

- ...
#&;’fw ... @ .

.

S
o

- - -
-

o .~5“2g~. ... o e
.. . . . - o -
-

.

.
.
.
.
|
s

. . ..
.. @@ @ @@

- o

>
.
,
.

- .
e % R S
- . o o
. -

- = . o
. . -

o

e
!

-

"

- - -
o < o o
- . = -

- - -
- . . . - ... . .

- >
- -
-

- - - - -
. @ -
. -

... . @

= ' _

-

. WM@@%W%J% -
. -

Bl
o
. -

o e s
. . - e o - 2 o
... - . .

.
.. . - - .
.- - o e 0 - o

: . . . - -
- . . o . .

. -
. - = . e .
- . . ..
- - . - -

- s - -
- . . .
- . . . -
- . . . . ... .. - -
- ... . - -
- - - ... .. . - -

-
.
e o - . -
.. . .
-~ .

- - -
- = . c . .
. - = . - . .
- .. s . . e
- . . o . ..

e = o e - v 5o
. . . . e - e - -

- - - .. . - - - o -
- e - - o o o o

= - = o 0 . ; -
. - . - . . . .

AN

- . .

. . - e
,,.

,..
.
.
R

.
-

L

L

.\
\);s}
|

.

o
o

.
n

.

.

e
.
W

.
.
-
f{‘g
L

. -

.

L

e
.

S
- . . - .. .
- . . . . -

.

-

.

.

.

e .
- .
i .

-

2

. -
. .
.

o

.

.
o

.

.

-
g
?\% o
.
.
.

"

I
.
R %‘,ﬁ
.

».).\}3

o
e"\;ﬁ

0

;;
.
.
.

.

o
${

-
.

0
o

- -

e e s

- . .
-

.
. . - P
i el o o -




serial n»- “ber 73050

BS

BS-ED

bestein
ordernumuoer
num. a commander
Bestelinummer

| 79730010X | 1|

Amoﬂﬂd A Tﬁm
2| 10285943 1

3/B0304073 | 1 |

70.003.839-1

PN00046



serial number 73050

PS-ED

PS

bestelnummer
ordernumber
num. a commander
Bestellnummer

| 79730012X |

._
Amobﬂmm.\w 4
210285943 1

PN00047



serial nu~—her 73050

1

e ]

PS-ED

bestel:
ordernuiveer

Bestellnummer

79760132X

num. 3 commander

B0980494
30121125
30598010
B03980578
30122225
B0460173
30111800
30121820
17870547
10{ 30103128
11| 38233182
12/ 30111100

©WW~NMOU L WN -

d ) ed mh wh wd ad B md b RS ek [t

M10x25/RVS
K10/M10/DM

B5,5x25/RVS

8,4/RVS
M8x20/RVS

10x28/RVS

10,5/RVS

70.003.839-3

PE0B035



serial number 73050

PS-ED

PS
Heavy Duty Special Protected

bestelinummer
ordernumber
num. 3 commander

" | Bestellnummer

| 79730013X |

1 _ B0493273

1
1
2| 10285943 1

70.003.839:5"

PN00331



serial .,.c-:_um.. 73050 ES | _um.m_u;

"

Heavy 1y Special Protected

bestelr
ordern

Bestellnummer

79730055X

num. a conmwiander

B0980454
30121125
30598010
B0980578
30122225
B0460673
30111800
30121820
17870547
10| 30103128
11| 38233182
12/30111100

CoNOTOLON

[EFRY \ JRTOU G GT S U TR \ QY 'y

M10x25/RVS
K10/M10/DM

B5,5x25/RVS

8,4/RVS
M8x20/RVS

10x28/RVS

10,5/RVS

PN00330

70.003.839-5



serial number 73050 E6 | BS/PS-ED

) bestelnummer
mm\vm mm\_nvm ordernumber
num. 3 commander
S — Bestellnummer
[ —E&=—= <
a 1117870127 1 [20 Mir.
1 2|97896548 | 1

_,ucmm 30A 79760146X

B1285086
30363850
B1153493
31461800
30573800

BS/PS

10.9-M8x50

8.4
8/M8/Cleveloc

o~ U bW
E A e

BS/PS

9 | B0304073 1
10| B0430273 1
11| B0308073 1

EXTRA
EXTENSION CABLE

10

WHEEL-SENSOR  BS/PS
START/STOP-SENSOR PS
PTO-SENSOR BS/PS

PN00048

,, 70.003.83%- "
e - o



UNIVERS

UNIVERS

INTERFACE CABLE SENSOR

JAoozqmo_. NEW - OLD
_ 3 START/STOP

serial ni-- ~ber 73050 =7 BS/PS-=D
! _ mm\_um besteln e
CABLE FOR RADAR SENSOR TRACTOK . 3 commander
Bestellnummer
1(B0303973 1
SELF-MADE DATATRONIC DICKEY JOHN 2|B0305873 | 1
3| B0305973 1
4 | B0303673 ,.“
BS/PS BS/PS BS/PS 2| Boacrers | 1
7 1 B0310873 1
INTERFACE CABLE SENSOR
1 VICONTROL OLD = NEW
BS | FUSE 3AT PS
12 Volt
SUPPLY 0 Volt UNIVERS

70.003.839-7

PN00049



P



